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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 30 P—07—Science
No. of Printed Pages — 11

¬˝flÁ‡Ê∑§Ê ¬⁄UËˇÊÊ, 2014
PRAVESHIKA EXAMINATION, 2014

ÁflôÊÊŸ
SCIENCE

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 80

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –

All the questions are compulsory.

3. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¥ –

Write the answer to each question in the given answer-book

only.

4. Á¡Ÿ ¬˝‡ŸÊ¥ ◊¥ •ÊãÃÁ⁄U∑§ πá«U „Ò¥U, ©UŸ ‚÷Ë ∑§ ©UûÊ⁄U ∞∑§ ‚ÊÕ „UË Á‹π¥ –

For questions having more than one part, the answers to those

parts are to be written together in continuity.
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5. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÊœÊ÷Ê‚
„UÊŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ê ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi

version should be treated valid.

6. πá«U ¬˝‡Ÿ ‚¢ÅÿÊ •¢∑§ ¬˝àÿ∑§ ¬˝‡Ÿ
• 1 – 8 1

’ 9 – 14 2

‚ 15 – 24 3

Œ 25 – 30 5

Section Question Nos. Marks per question

A 1 – 8 1

B 9 – 14 2

C 15 – 24 3

D 25 – 30 5

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 28  ‚ 30 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
There are internal choices in Q. No. 28 to 30.

πá«U - •

Section - A

1. ‚ÊÁ«Uÿ◊, Ä‹Ê⁄UËŸ ÃÕÊ Á‚Á‹∑§ÊÚŸ ◊¥ ‚ ∑§ÊÒŸ-‚Ë ©U¬œÊÃÈ „ÒU ?

Out of sodium, chlorine and silicon which one is metalloid ? 1

2. Á∑§‚Ë Áfl‹ÿŸ ∑§Ë ©UŒÊ‚ËŸ ¬˝∑Î§ÁÃ ∑§ Á‹∞ pH ∑§Ê ◊ÊŸ Á∑§ÃŸÊ „UÊÃÊ „ÒU ?

What is the value of pH for a neutral solution ? 1

3. øË¥≈UË ∑§ «¢U∑§ ‚ dÊfl „UÊŸ flÊ‹ •ê‹ ∑§Ê ŸÊ◊ Á‹Áπ∞ – 

Write the name of acid secreted from sting of ant. 1
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4. å‹Ê¡◊ÊÁ«Uÿ◊ ◊¥ Á∑§‚ ¬˝∑§Ê⁄U ∑§Ê Áflπá«UŸ ¬ÊÿÊ ¡ÊÃÊ „ÒU ? 

Which type of fission is found in Plasmodium ? 1

5. flÊÿÈ◊á«U‹ ◊¥ •Ê¡ÊŸ ∑§Ë ◊ÊòÊÊ ◊¥ ÃËfl˝ÃÊ ‚ Áª⁄UÊfl≈U ∑§Ê ◊ÈÅÿ ∑§Ê⁄U∑§ ÄÿÊ „ÒU ?

What is the main factor of sharply dropping the amount of ozone in

the atmosphere ? 1

6. ÁfllÈÃ ¡ÁŸòÊ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊßÿ –

Draw a labelled diagram of an electric generator. 1

7. ∞∑§ „UË ‚ÊÚ∑§≈U ‚ ∞∑§ „UË ‚◊ÿ ¬⁄U ’„ÈUÃ ‚ ÁfllÈÃ ‚ÊÁœòÊÊ¥ ∑§Ê ‚¢ÿÊÁ¡Ã ∑§⁄UŸ ‚ ÄÿÊ „UÊÃÊ

„ÒU ?

What happens on connecting too many appliances at a time to a single

socket ? 1

8. Á∑§‚Ë ÁfllÈÃ ’À’ ∑§ ÃãÃÈ ◊¥ 300 C •Êfl‡Ê 5 Á◊Ÿ≈U Ã∑§ ¬˝flÊÁ„UÃ „UÊÃÊ „ÒU – ÁfllÈÃ ¬Á⁄U¬Õ

◊¥ ¬˝flÊÁ„UÃ ÁfllÈÃ œÊ⁄UÊ ∑§Ê ¬Á⁄U◊ÊáÊ ôÊÊÃ ∑§ËÁ¡∞ –

A charge of 300 C is drawn by a filament of an electric bulb for

5 minutes. Find the amount of electric current flowing through the

circuit. 1



4

P—07–Science  P–3003 

πá«U - ’

Section - B

9. (•) ⁄U«UÊÚÄ‚ •Á÷Á∑˝§ÿÊ ∑§Ê ∞∑§ ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ –

(’) ¡‹ ∑§ flÒlÈÃ •¬ÉÊ≈UŸ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –

(a) Give one example of redox reaction.

(b) Draw the labelled diagram of electrolytic decomposition of water.

1 + 1 = 2

10. ¡ËflÊ‡◊Ë ßZœŸ, ™§¡Ê¸ ∑§ Á∑§‚ ¬˝∑§Ê⁄U ∑§ dÊÃ „Ò¥ ? Á∑§ã„UË¥ ŒÊ ¡ËflÊ‡◊Ë ßZœŸ ∑§ ŸÊ◊ Á‹Áπÿ –

Which type of energy sources are fossil fuels ? Write down any two

names of fossil fuels. 1 + 1 = 2

11. ¬˝∑§Ê‡Ê ‚¢‡‹·áÊ ¬˝∑˝§◊ ∑§ ŒÊÒ⁄UÊŸ „UÊŸ flÊ‹Ë ∑§Êß¸ ŒÊ ÉÊ≈UŸÊ∞° Á‹Áπÿ –

Write any two events occurring during the process of photosynthesis.

1 + 1 = 2

12. ‚◊¡ÊÃ ∞fl¢ ‚◊flÎÁûÊ •¢ª Á∑§‚ ∑§„UÃ „Ò¥U ? ßŸ∑§ ©UŒÊ„U⁄UáÊ ŒËÁ¡ÿ – 

What are  homologous and analogous organs ? Write their examples.

1 + 1 = 2

13. ∑§ÊÁÿ∑§ ¬˝flœ¸Ÿ Á∑§‚ ∑§„UÃ „Ò¥U ? ∑§ÊÁÿ∑§ ¬˝flœ¸Ÿ ∑§Ê ∞∑§ ‹Ê÷ Á‹Áπÿ –

What is vegetative propagation ? Write one advantage of vegetative

propagation. 1 + 1 = 2

14. (i) •ãÃÁ⁄UˇÊ ÿÊòÊË ∑§Ê •Ê∑§Ê‡Ê ∑§Ê‹Ê ÄÿÊ¥ ¬˝ÃËÃ „UÊÃÊ „ÒU ?

(ii) •Ê°π ∑§Ë ¬ÈÃ‹Ë ∑§ •Ê∑§Ê⁄U ∑§Ê ß‚∑§Ê ∑§ÊÒŸ‚Ê ÷Êª ÁŸÿÁãòÊÃ ∑§⁄UÃÊ „ÒU ?

(i) Why does the sky appear dark to an astronaut ?

(ii) Which part of an eye adjusts the size of its pupil ? 1 + 1 = 2
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πá«U - ‚

Section - C

15. (•) ‚ÊÁ«Uÿ◊ „UÊß«˛UÊÄ‚Êß«U ∑§Ë Á¡¢∑§ œÊÃÈ ‚ „UÊŸ flÊ‹Ë Á∑˝§ÿÊ ‚ ÁŸ∑§‹Ÿ flÊ‹Ë ªÒ‚ ∑§Ê ŸÊ◊

Á‹Áπ∞ – •Á÷Á∑˝§ÿÊ ∑§Ê ‚◊Ë∑§⁄UáÊ ÷Ë Á‹Áπ∞ –

(’) ÁŸêŸ ◊¥ Á∑§‚∑§Ê ©U¬ÿÊª Á∑§ÿÊ ¡ÊÃÊ „ÒU ?

(i) ¬ËŸ flÊ‹ ¡‹ ∑§Ê ¡ËflÊáÊÈ•Ê¥ ‚ ◊ÈÄÃ ∑§⁄UŸ ∑§ Á‹∞

(ii) ⁄U‚Êß¸ÉÊ⁄U ◊¥ SflÊÁŒc≈U πSÃÊ ¬∑§ÊÒ«∏U ’ŸÊŸ ◊¥

(iii) ¡‹ ∑§Ë SÕÊß¸ ∑§ΔUÊ⁄UÃÊ ŒÍ⁄U ∑§⁄UŸ ◊¥

(iv) Áπ‹ÊÒŸ ÃÕÊ ‚¡Êfl≈U ∑§Ê ‚Ê◊ÊŸ ’ŸÊŸ ◊¥ –

(a) Give the name of the gas evolved when sodium hydroxide reacts

with zinc metal. Write the equation also.

(b) Which is used in the following ?

(i) To make drinking water free from germs

(ii) For making tasty crispy Pakoras in kitchen

(iii) To remove permanent hardness of water

(iv) For making toys and decorative materials. 1 + 2 = 3

16. (•) ÁflSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ Á∑§‚ ∑§„UÃ „Ò¥U ?

(’) ÁŸêŸ •Á÷Á∑˝§ÿÊ•Ê¥ ◊¥ A  ∑§Ê ¬„UøÊÁŸ∞ —
(i) Zn + CuSO 4 →  A + Cu

(ii) Na 2SO 4 + BaCl 2  →  A + 2 NaCl.

(a) What is displacement reaction ?

(b) Identify A in the following reactions :

(i) Zn + CuSO 4 →  A + Cu

(ii) Na 2SO 4 + BaCl 2  →  A + 2 NaCl. 1 + 2
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17. (•) ‚◊SÕÊÁŸ∑§ Á∑§‚ ∑§„UÃ „Ò¥U ?

(’) Á∑§ã„UË¥ ŒÊ ©Uà∑Î§c≈U ªÒ‚Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ –

(‚) ∞∑§ Ãàfl ∑§Ê ß‹Ä≈˛UÊÚÁŸ∑§ ÁflãÿÊ‚ 2, 8, 2 „ÒU – ß‚∑§Ë flª¸ ‚¢ÅÿÊ ÃÕÊ ‚¢ÿÊ¡∑§ÃÊ ÄÿÊ

„UÊªË ?

(a) Define Isotope.

(b) Write the names of two inert gases.

(c) An element has 2, 8, 2 electronic configuration. Write its group

number and valency. 1 + 1 + 1 = 3

18. ∑Î§ÁòÊ◊ flÎÄ∑§ / •¬Ê„UŸ ÄÿÊ „ÒU ? ß‚∑§Ê ©U¬ÿÊª Á‹Áπÿ –

What is an artificial kidney / haemodialysis ? Write the use of

haemodialysis. 1 
1
2 + 1 

1
2 = 3

19. ◊È∑È§‹Ÿ Á∑§‚ ∑§„UÃ „Ò¥U ? „UÊß«˛UÊ ◊¥ ◊È∑È§‹Ÿ ∑§Ê ‚ÁøòÊ ‚◊¤ÊÊßÿ –

What is budding ? Explain the budding in Hydra by the help of

diagram. 1 + 1 + 1 = 3

20. Ÿ⁄U ÃÕÊ ◊ÊŒÊ Á‹¢ª „UÊ◊Ê¸ŸÊ¥ ∑§ ŸÊ◊ Á‹Áπÿ – Ÿ⁄U ◊ÊŸfl ∑§Ë •ãÃ—dÊflË ª˝¢ÁÕÿÊ¥ ∑§Ê ŸÊ◊Ê¢Á∑§Ã

ÁøòÊ ’ŸÊß∞ –

Write the names of male and female sex hormones. Draw a labelled

diagram of male endocrine glands. 1 + 2 = 3
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21. ¬ÿÊ¸fl⁄UáÊ ∑§Ê ’øÊŸ ∑§ Á‹∞ ÃËŸ ¬˝∑§Ê⁄U ∑§ ‘R’  ∑§Ê S¬c≈U ∑§ËÁ¡ÿ –

Describe three types of ‘R’ to save the environment. 1 + 1 + 1 = 3

22. •flÃ‹ Œ¬¸áÊ ∑§ ◊ÈÅÿ »§Ê∑§‚ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – ©UûÊ‹ Œ¬¸áÊ ∑§ ŒÊ ©U¬ÿÊª Á‹Áπ∞ –

Define the principal focus of a concave mirror. Write two uses of a

convex mirror. 1 + 1 + 1 = 3

23. •Ê◊ ∑§ ÁŸÿ◊ ∑§Ê ∑§ÕŸ ∑§ËÁ¡∞ – ß‚ ÁŸÿ◊ ∑§ ‚àÿÊ¬Ÿ ∑§Ê ¬˝ÿÊª mÊ⁄UÊ ‚◊¤ÊÊßÿ –

State Ohm’s law. Describe an experiment to verify this law. 1 + 2 = 3

24. ŒÊ ÁfllÈÃ ‹Òê¬ Á¡Ÿ◊¥ ‚ ∞∑§ ∑§Ê •ŸÈ◊ÃÊ¢∑§ 60 W, 220 V ÃÕÊ ŒÍ‚⁄U ∑§Ê 40 W, 220 V

„ÒU, ÁfllÈÃ 220 V •Ê¬ÍÁÃ¸ ◊ã‚ ∑§ ‚ÊÕ ¬Ê‡fl¸∑˝§◊ ◊¥ ‚¢ÿÊÁ¡Ã „ÒU – ÿÁŒ ÁfllÈÃ •Ê¬ÍÁÃ¸ ∑§Ë

flÊÀ≈UÃÊ 220 V  „ÒU, ÃÊ ÁfllÈÃ ◊ã‚ ‚ ∑È§‹ Á∑§ÃŸË œÊ⁄UÊ ‹Ë ¡ÊÃË „ÒU ?

Two lamps one rated 60 W, 220 V and the other 40 W, 220 V are

connected in parallel to a 220 V electric supply mains. What is the

total current drawn from the electric mains if the voltage of electric

supply is 220 V ? 3
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πá«U - Œ

Section - D

25. (•) ÁŸêŸ ∑§Ê ‚◊¤ÊÊß∞ —

(i) ÷¡¸Ÿ

(ii) ÁŸSÃÊ¬Ÿ –

(’) ©U÷ÿœ◊Ë¸ •ÊÚÄ‚Êß«U Á∑§‚ ∑§„UÃ „Ò¥U ? ∞‚ Á∑§‚Ë ∞∑§ •ÊÚÄ‚Êß«U ∑§Ê ŸÊ◊ Á‹Áπ∞ –

(‚) ¬ËÃ‹ Á∑§Ÿ ŒÊ œÊÃÈ•Ê¥ ∑§Ë Á◊üÊœÊÃÈ „ÒU ?

(a) Explain the following :

(i) Roasting

(ii) Calcination.

(b) What are amphoteric oxides ? Write the name of such one oxide.

(c) By which two metals is brass alloy formed ? 2 + 2 + 1 = 5

26. πÊl-oÎ¢π‹Ê ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡ÿ – ∞∑§ ¬ÊÁ⁄UÃ¢òÊ ◊¥ ™§¡Ê¸ ∑§ ¬˝flÊ„U ∑§Ê •Ê⁄Uπ ÁøòÊ ∑§Ë

‚„UÊÿÃÊ ‚ ‚◊¤ÊÊßÿ –

Define food chain. Describe the flow of energy in an ecosystem with

the help of a linear diagram. 1 + 2 + 2 = 5

27. ŒÁˇÊáÊ „USÃ •¢ªÈcΔU ∑§Ê ÁŸÿ◊ Á‹Áπ∞ – Á∑§‚Ë œÊ⁄UÊflÊ„UË ¬Á⁄UŸÊÁ‹∑§Ê ∑§ ÷ËÃ⁄U ∞fl¢ ©U‚∑§ øÊ⁄UÊ¥

•Ê⁄U øÈê’∑§Ëÿ ˇÊòÊ ⁄UπÊ•Ê¥ ∑§Ê ¬˝ŒÁ‡Ê¸Ã ∑§⁄UŸ ∑§ Á‹∞ ©U¬ÿÈQ§ ÁøòÊ ’ŸÊßÿ – œÊ⁄UÊflÊ„UË

¬Á⁄UŸÊÁ‹∑§Ê ∑§Ë ‚„UÊÿÃÊ ‚ Á∑§‚Ë ‹Ê„U ∑§ ¿U«∏U ∑§Ê øÈê’∑§ ◊¥ ∑Ò§‚ ’Œ‹Ê ¡ÊÃÊ „ÒU ? ÁøòÊ

’ŸÊ∑§⁄U fláÊ¸Ÿ ∑§ËÁ¡∞ –

Write right-hand thumb rule. Draw necessary diagram to show lines

of magnetic field inside and around a current carrying solenoid. How

an iron rod can be converted into a magnet by using current carrying

solenoid ? Describe it giving suitable diagram. 1 + 1 + 2 + 1 = 5
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28. (•) ‚„U‚¢ÿÊ¡Ë ’ãœ Á∑§‚ ∑§„UÃ „Ò¥U ?

(’) ◊ÕŸ ÃÕÊ ∞ÕËŸ ∑§Ë ß‹Ä≈˛UÊÚŸ Á’ãŒÈ ‚¢⁄UøŸÊ ’ŸÊß∞ –

(‚) ÁŸêŸ ∑§Ê ©UŒÊ„U⁄UáÊ Œ∑§⁄U ‚◊¤ÊÊß∞ —

(i) ‚¢∑§‹Ÿ •Á÷Á∑˝§ÿÊ

(ii) ¬˝ÁÃSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ –

•ÕflÊ

(•) ∞ÕŸÊÚ‹ ∑§ ÁŸ¡¸‹Ë∑§⁄UáÊ ∑§Ê ‚◊Ë∑§⁄UáÊ Á‹Áπ∞ ÃÕÊ ÁŸ¡¸‹Ë∑§Ê⁄U∑§ ∑§Ê ŸÊ◊ Á‹Áπ∞ –

(’) ÁŸêŸ ÿÊÒÁª∑§Ê¥ ∑§Ë ‚„UË üÊáÊË ¬„UøÊÁŸ∞ —

ÿÊÒÁª∑§ üÊáÊË

(i) ∞ÕŸ (a) •‚¢ÃÎåÃ „UÊß«˛UÊ∑§Ê’¸Ÿ

(ii) ’ã¡ËŸ (b) ‹ê’Ë oÎ¢π‹Ê flÊ‹ ‚¢ÃÎåÃ „UÊß«˛UÊ∑§Ê’¸Ÿ

(iii) „UÄ‚Ÿ (c) Áfl·◊ ¬⁄U◊ÊáÊÈ ÿÈÄÃ „UÊß«˛UÊ∑§Ê’¸Ÿ

(iv) ◊ÁÕ‹ ∞À∑§Ê„UÊÚ‹ (d) ‚¢ÃÎåÃ „UÊß«˛UÊ∑§Ê’¸Ÿ

(‚) ‚Ê’ÈŸ ∑§ •áÊÈ ∑§Ë ‚¢⁄UøŸÊ ’ÃÊß∞ –

(a) What do you mean by covalent bond ?

(b) Write the electron dot structure of methane and ethene.

(c) Explain the following with example :

(i) Addition reaction

(ii) Displacement reaction. 1 + 2 + 2 = 5

OR
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(a) Write the dehydration reaction of ethanol and write the name of

dehydrating agent.

(b) Choose correct series for the following :

Compound Series

(i) Ethane (a) unsaturated hydrocarbon

(ii) Benzene (b) long chained saturated hydrocarbon

(iii) Hexane (c) hydrocarbon having odd atom

(iv) Methyl alcohol (d) saturated hydrocarbon

(c) Draw the structure of soap molecule. 2 + 2 + 1 = 5

29. Ã¢ÁòÊ∑§Ê ∑§ÊÁ‡Ê∑§Ê ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊßÿ ÃÕÊ ß‚∑§Ë ‚¢⁄UøŸÊ ∑§Ê ÁflSÃÎÃ fláÊ¸Ÿ ∑§ËÁ¡ÿ –

•ÕflÊ

flÊÿflËÿ ÃÕÊ •flÊÿflËÿ ‡fl‚Ÿ Á∑§‚ ∑§„UÃ „Ò¥U ? ÁflÁ÷ÛÊ ¬ÕÊ¥ mÊ⁄UÊ Ç‹Í∑§Ê¡ •áÊÈ ∑§ Áflπá«UŸ

∑§Ê ‚◊¤ÊÊßÿ –

Draw a labelled diagram of the neuron and describe the structure of

neuron in detail. 2 + 3 = 5

OR

What are aerobic and anaerobic respiration ? Describe the breakdown

of glucose molecule by various pathways. 1 + 1 + 3 = 5
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30. (•) ‹ã‚ ∑§Ë ˇÊ◊ÃÊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ –

(’) •flÃ‹ ‹ã‚ ∑§ ¬˝∑§ÊÁ‡Ê∑§ ∑§ãº˝ ‚ 2 f 1 ÃÕÊ  f 1 ŒÍ⁄UË ∑§ ◊äÿ ÁSÕÃ Á∑§‚Ë Á’ãŒÈ ¬⁄U

ÁSÕÃ Á’ê’ ∑§Ê ¬˝ÁÃÁ’ê’ ’ŸÊŸ ∑§ Á‹∞ Á∑§⁄UáÊ ÁøòÊ ’ŸÊßÿ ÃÕÊ ¬˝ÁÃÁ’ê’ ∑§Ë ¬˝∑Î§ÁÃ

Á‹Áπ∞ –

(‚) ¡’ ¬˝∑§Ê‡Ê ŒÊ ◊Êäÿ◊Ê¥ ∑§ •ãÃ⁄UÊ¬ÎcΔU ¬⁄U •Á÷‹ê’flÃ˜ •Ê¬ÁÃÃ „UÊÃÊ „ÒU, ÃÊ ÄÿÊ „UÊÃÊ

„ÒU ?

•ÕflÊ

•Ê°π ∑§ ŒÊ ◊ÈÅÿ ŒÊ·Ê¥ ∑§ ŸÊ◊ ’ÃÊßÿ – ©UŸ∑§ ©Uà¬ÛÊ „UÊŸ ∑§ ∑§Ê⁄UáÊÊ¥ ∞fl¢ ©UŸ∑§

ÁŸflÊ⁄UáÊ ∑§ ©U¬ÊÿÊ¥ ∑§Ê ‚◊¤ÊÊßÿ – 

(a) Define the power of lens.

(b) Draw a ray diagram for formation of image of an object situated

at a point in between 2 f 1 and  f 1 distances from the optical

centre of the concave lens and write the nature of the image

formed.

(c) What happens when light is falling perpendicular by to an

interface of two media ? 1 + 1 + 2 + 1 = 5

OR

Name the two major defects of an eye. Explain causes of their

development and discuss methods of their correction.

1 + 1 + 1 + 1 + 1 = 5


